=0

54 3H20H8

5l B2

6-220
)
/®
'] 7
/ o
‘ N4
Y
X
ol o
- k
’3\' 6‘5
1051
&FA
Q)
6‘\3/6
1039
BBAIEE
=
o
&
o
1050
P P iz 2248
]
%, o\
1075
B3
[N
%
o
0
D
» ©
%,®
N
<
4
g
™
&
N
s
5
&
6

1045
) 2145

6-36"
6<
309
&
\
&2
%
%4
\
&
S
S
&
<
S
&
©

1077

6‘\377

1064
X254

78
=148
>, §-397

1054 Q4

% 2 JRRERE

S
© %/33
&
Igé
\) 1069
ZXII 3=
O g
i
/1052 ©
KFI4E
6‘327
6341
(x4
\
P
\! < 1068
B ERE
%’“\“‘o
A X
£ &>
9,
1071

e

6<
32,

| 1062
CEURS%%
1061 Q 1060

RI4HE =~ Aws 5

6-330

RS MPIRIE T BISHR

S=1:10000

@

N B

— 1 #RESHR
— 2 fRESHR

EEE— ZDREEHR

S

@ @ O

®0|0 @

""""" KIE ARSI
—_— @
FEMSE
— —AREE @
b wmews| wmes g |ER m || 7 mess|  wes S@ | EE (m)

s | somum | —w | 11600
e | mrmkore| @ | 24024
%21’;)3 il | Tk | 14693
O oat | Tmms | —w | 26877
R awig —#% | 46101
°%s" | mrism | —m | ese2
o220 | mAmkoL® | 2ot | 23626
ooy somIE | 2ot | 22806
%5 | mrirzEe | zot| 25044
| sosmms |zow| 076
O3 | mmmm |zotw| o825
agar mRE | 20 952
%?}f BT Z0tth 3854
%? 25)6 SIS Z0tth 2100
p BoLlm | zof| 7482
%‘?’;)9 T Z0th 5295
PN CEER | 2of 549
- EAENR | 20fs| 3946
%222;3 EREWE | Zoft| 24811
%gg)o =8 Z0tt 205.0
%33)2 R2E48 Z0th 1692
gy | Tizsk |zom| 2413
P rwkmg | zow| 7773
O3l | wmmms |zow| 1657
aasy @i | zof| 7610
oaey | wissw |zom| 2058
o BARER | Zof| 1342
aaar Bt | 2of| 3200
?éié? b= Znfts 461.3
et MRS | Zof| 3299
(gfgf) BOEXE | Zof| 70433
ey souEs | zom| 3626
P mR1SR |2of| 2604
P BRUFR | Zof| 8554
Sepe | mitsw |zom| 9197
%22)3 #18 Z0tth 1786
G(égif BPRBER | Z0ft 181.2
o’ Ti8 zot| 4058
02%6 | wisw |zof| ssof
gk TEER | zof| 3899
ey BORE | 20f| 21255
ey rESE | 2ofe| 13229
ol | mmm2se |zom| 2872
oot | wiems | zom| 7418
%gg? mEosK | 2ot 3107
aae? e | zof 426
ey | AmuRmm | zof 65.1




